— Bt EEABARTYRR—ILY—5
NG WA
F17EBEXIVEFR—=LY) =5 HIERT— 126

JFL:

BFIyhR—ILU—T

B B {20154 10A248(1) 1400 HE&EMH90%H =54 (KB m i NI L REus, R
X & B & R 1252°C 32 B [44% A i3 EvF(E) (2ERE EyF(ERE) 818
TyFasviar—iiEA &7 * g A —F Bl B/ 2 iRTIE IR EBEZE ORA £ BHEM
BHT7EvH— NE # Bl # 1 iBH KN mosna il B2 HRELIHA HE 438 A
s - 89 s - 1213 ]
(h—LF—L) 1 BT % 1 (ESH—F—L)
BARBEFC 1 1 FCXIR
% ® 0
KICK OFF
3 va—+h - . F | || & . = va—+k R
No. | OUTHES wig | = RF A S|E|E|® RFA Rt anis OUTESFS: No.
0 RIF i 1| GK| GK| 39|14 =A 0
2% 1 1 NN 2| DF|DF| 13|&A %0=F (Cap.) 0
11 #* &4 (Cap.) 8| DF|DF| 15|/k& & 0
0 Bk X 9| DF|DF| 33O =X 0 665>
0 &7 &t 10| DF | DF | 34|75/ &R 0
0 B K A[MF|MF| 6[&K ZX 0
665> 11 ;A B3k 6[MF|MF| 14|78/ X #i 0
11 2 k& K& 11|MF|MF| 17|=#8 At 0
0 AH £1h 14|MF|MF| 22| 2=—=3 0 615
HT 3 3| 1|=45 &£3 13[FW]Fw| 111178 & 0
1 1 £F Bl 33|FWlFw| 23|H® BEE 1l 20 1 1 83%
BKEE 31| GK][GK| 214 FEFIN)-20)
13 0 AR & 17|MF|DF| 4|&L X
6 1 1 AR F£4A 18| MF| DF | 32| KT iHl& 0 33
N RE 22|MF|MF| 25|21)v+% 0 23
B RG 28| MF|FW| 7|Z4UE—=3 1 1 22
2 0 KR MKER 30| MF
F &R E 34| Fw
24 R EE EE =24 R
695 2 | 14iKH £16 57 |&EH EEsh FE ®
‘j_f B Fsemt O ‘fé
4 6 10 ¥a—k| 3 1 2
11 3 4 GK |10 5 5
3 4 7 CK 4 31
5 5 10 EIEFK 12| 8 4
4 2 6 REEFK 5 20 3
42 6 @AM 5 2¢ 3
0 0 0 PK 0 0 0
BREME| BRF—L | No. BEE 237 |BEEA REE: ~FUJIL ->TaR 1:FEHR/AR xSBE S:Ya—bk HATAVY
25 [Fexix 23iHG EHE 0—1 | &2 14 . -1 11 ~ 1 hi-1] 23 HS
219 [maREsrc| 13 =48 £3} 1—1 | %2 8 1 g-1i 33 H i 10 H 1
13 HS
(G & RFRE] BTH46:11(1:11), $%448:05(3:05) . HAFTERM 1:49:25
[fm&]

G THAR) ORIZIE, BHEFKDSS, BFEF—LOFTHAFICEDHE. RRLTVET,




